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AL-QADIR JINNAH SCIENCE ACADEMY

PHYSICS 9th (MCQ)
[t is chellenge that you can get 12/12 marks in annual exam 2022

Q1. Tick for correct answer.

S 50/’!:4&»4.&.:«&1:2;’7/%

1.The number of base units in Sl are:
(A) Three o# (B) Six
2.Which one of the following unit is not a derived unit?

(A) Pascal £ (B) Kilogram 1./ ¥

3.Amount of a substance in terms of numbers in measured in:

(A) Gram 1./ (B) Kilogram 1./

4.An interval of 200 micro seconds is equivalent to:
(A) 0.2s (B) 0.02s
5.Which one of the following is the smallest quantity?

(A) 0.01g (B) 2mg

e ATES ot ¥ i

(C) Seven =- (D) Nine ¥
S U w5 AU e .2
(C) Newton o/ (D) Watt ~is

e S St 253

(C) Newton ¢/ (D) Mole J»*
-‘Ld,p.a?%/‘;?u?LZOOA
(€)2x107% (D)2 x 10 °s

S (F e s S e .5

(C) 100 grams (D) 5000 ng

6.Which instrument is most suitable to measure the internal diameter of a test tube?

(A) Metre rod 5.~

(B) Vernier Calipers ., Jf £ (C) Measuring tap =4 & &

?‘gqt?uy:.q.ﬂvwfg’. LL/()”%&»IIK.,«,{‘M..{LG

(D) Screw gauge ff gf

7.A student claimed the diameter of a wire as 1.032cm using Vernier calipers. Upto what extent do you agree with it?

U Faol e T 03226 e By F L F N T

(A) fmm (B) 1.0mm
8.A measuring cylinder is used to measure:
(A) Mass Ut (B) Area s/
9.A body has translatory motion if it moves along a:

(B) Straight line o« (3"“” =

10.The motion of a body about an axis is called:

(A) Circle = 015

(A) Rotatory motion ¢#» <+, (B) Circular motion o+ # -
11.Which of the following is a vector quantity?

(A) Speed 4z (B) Distance <6

(C) 1.03mm (D) 1.032mm
-905(71[(#:_;1»5"58
(C) Volume +1s (D) Level of a liquid J/ ¢ &b &~

—e b/ =il ns 2t ~ )

(C) Curved path 4 =i 7 (D) Line without rotation & &%

QW P2 LA A0
(D) Vibratory motion o7+ ¢ % #1s

S Hri o5 ol e S5 o0

(D) Power st

(C) Random motion s (.

(C) Displacement wo=¥ 5

12.By dividing displacement of a moving body with time, we obtain: e b fbed /| r._’;;r PN I ey o 12

(A) Acceleration ¢ A1 (B) Speed 4

(C) Deceleration %+ s (D) Velocity ¢ us

13.A ball is thrown vertically upward. Its velocity at the highest point is:

(A) -10ms™"-10ms™ (B) 10ms™" 10ms™’
14.A change in position is called:

(A) Speed i (B) Velocity " us

15.A train is moving at a speed of 36kmh™. Its speed expressed in ms”

(A) 5ms™* (B) 10ms™

Lot S chg Tt O 4§ il Ff (143
(D) 100ms™" 100ms™’

A P ESIAY
(D) Distance -t<t

(C) Zero 4~

(C) Displacement oo 5

Tis:

St ms 5./ 7 o b § 36kmh1 2 (515

(C) 20ms™" (D) 25ms™"

16.A car, starts from rest and attain velocity 20ms™in 8 seconds, the acceleration of car will be:

e - B SPGB b P ST e o et KNG



(A) 1.5ms™ (B) 2.0ms™ (C) 2.5ms™ (D) 3.0ms™
17.1f an object is moving with constant speed then its distance time graph will be a straight line:
2 B LSS P K P A SIS ST A Ly 22 L iAT
(A) Along time axis (B) Along distance axis (C) Parallel to time axis (D) Inclined to time axis
e terd AR < Uer § AL Ao e Hie LA p gy A e
18.A straight line parallel to time axis on a distance time graph tells that the object is:

(2 St S 6 A s a LA b S e b8

(A) Moving with constant speed (B) At rest (% <2 (C) Moving with variable speed (D) In motion < % /'»*
NS N PNy~ a7 et SIS

19.Newton’s first law of motion is valid only in the absence of:

?‘gbxu“um(u’ru)l?é;;zig‘gutd’mr S L3009

(A) Momentum (“»” % (B) Friction o} (C) Net force 4 =z (D) Force .4
20.Inertia depends upon: ?+4JCW!Kyjléwdsgjp.20
(A) Velocity " vs (B) Mass Ut (C) Net force 24 = (D) Force ¢

21.A boy jumps out of a moving bus. There is a danger for him to fall.
Se s S PS L e bl il e Ut S EKI .21

(A) Towards the moving bus (B) Away from the bus .»s — ~ (C) In the direction of motion (D)
Opposite to the direction of

SAE SR e 7 motion

e e § e
22.Which of the following is the unit of momentum? -‘4&41((5{ e St osu0.22
(A) Nm (B) kgms~—2 (C) Ns (D) Ns™*

23.A string is stretched by two equal and opposite forces 10N each. The tension in the string is:

"fnl;‘/ui? A d/)ﬁ-‘¢1 ON_1a d/ s £ /z-‘alljlgg:‘?fau d/ ’//}Jl?»/ Uil .23

(A) Zero (B) 5N (C) 10N (D) 20N
24.The mass of a body: :JLKK £1.24
(A) Decreases when accelerated (B) Increases when accelerated (C) (D) None of these %’ 35 U wi
cthaf S M P Y TSP A Eigﬁfizﬁ)ecsit;vhen moving with

T T
25.

Two bodies of masses m4 and m; attached to the ends of an inextensible string passing over a frictionless pulling such that
both move vertically. The acceleration of a bodies is:

-b’nu'?')"g(rL.zlul-u}L/J]f)fu]»fwu@'b)u’lrlzl»éu’l. mosf m14u;/£djﬁfdb"’_/}f¢_/’&uﬁf/'d._..{l.25

(A) my = ng (B) my — ng (C) my + Mg g (D) 2myms

M+ Mme ™ +me my — o m + ms
26.\When horse pulls a cart, the action is on the? ?‘grn/,‘/’ u*{l?‘at‘g?f djb’:lbf.,e.ZG
(A) Cart_, s¢ (B) Earth ; o= (C) Horse i (D) Earth and cart_; 7€ st o2

27.Which of the following material lowers friction when pushed between metal plates?

?‘gal‘pnﬂ;f“/‘uynéulcéjuyﬂé:u;}‘dl)L/(flb‘fdﬁg//;(ﬂd}g/ﬂ.27

(A) Water 3 (B) Fine marble powder (C) Air1s (D) Oil J7

B gy
28.The number of forces that can be added by head to tail rule are: -;.m{.l‘f(ggf G S i e Joi 9 40,28
(A) Two 5 (B) Three (C) Four ¢ (D) Any number s (& 35

29.The number of perpendicular components of a force are: -‘a(}mw"'gf u**if ,:.fo’u’ Z /%6(29



(A) One (i (B) Two s (C) Three o# (D) Four &
30.A force of 10N is making an angle of 300 with the horizontal. Its horizontal components will be:
sl P Qg 30020 £ Eix-d L5 1030
(A) 4N (B) 5N (C) 7N (D) 8.7N
31.Two equals but unlike parallel forces having different line of action produce:

-waﬁ&nﬁuﬁﬂdfu‘/ﬂ(‘ffjwlﬁuldgdﬂf*».:ﬂ

(A) A torque St (B) A couple g (C) Equilibrium ¢ 7 S (D) Neutral equilibrium
PRI
32.A body is said in dynamic equilibrium if it has: :Jl,,z‘grnwrlﬁ’dﬁ.(kfljﬁug.ﬂ
(A) Uniform acceleration (B) Uniform speed » ¢ty 4x J () (D) Zero acceleration
e e Uy Uniform speed and acceleration v Py
Ay HM i S
33.A body is in neutral equilibrium when its centre of gravity: o/ JT/-“Ku’lﬁ‘ab'mﬂrZ /d:fldx‘;jﬁ £1.33
(A) Is at its highest position (B) Is at the lowest position (C) Keeps its height if displaced (D) Is situated at its base
0 g Ak 5 o et o U7 Gk G o b it &
34.Racing cars are made stable by: ] d'%gké&d]’?qjga@h34
(A) Increasing their speed (B) Decreasing their mass (C) (D) Decreasing their width
S i e {JL Lowering their centre of gravity e ﬂ/&u‘g

LS G ar &
35.The work done will be zero when the angle between the force and the distance is:
~eba i n L Lol sl 20 32 S0s.35
(A) 45° (B) 60° (c) 90° (D) 180°
36.If the direction of motion of the force is perpendicular to the direction of motion of the body, then work done will be:

EnSiInlost AL ar§Fr§ L erdl U3 /1.36

(A) Maximum ss(s $t (B) Minimum ¢ J (C) Zero 4 (D) None of these ¥ ¢ Ut v
37.1f the velocity of a body becomes double, then its kinetic energy will: :&}I.Q'JKJ u’t?é.lgnu'»d’ 1y (’ u’( 137
(A) Remain the same (B) Become double « 3l % % (C) Become four times (D) Become half Qo s i

< GediS < b

38.The kinetic energy of a body of mass 2kg is 25J. Its speed is: -JMQ;JJI_‘GZSJ&/'I.QJKJ () ..Qz_’.(l/ ¥2 .38
(A) 5ms" (B) 12.5ms™! (C) 25ms™* (D) 50ms™"

39.The work done in lifting a brick of mass 2kg through a height of 5m above ground will be:

IS L FSkSBma gtisn LIS/ #2.39
(A) 2.5 (B) 10J (C) 50J (D) 100J
40.Which one of the following converts light energy into electrical energy?

et/ S SCAES BB e 5. 0000.40
(A) Electric bulb 4 ¢ (B) Electric generator %z /*¢s (C) Photocell & ## (D) Electric cell = /2%
41.When a body is lited through a height h, the work done on it appears in the form of its:

e b B UBHA U T Y 1T b T E S h s P e 41

(A) Kinetic energy §./1 & d¢  (B) Potential energy & ‘P’fbg (C) Elastic potential energy (D) Geothermal energy

g Py L Gad iz
42.The energy stored in coal is: -‘4&}10}«,/..7'5‘%1 442
(A) Heat energy §./1 <oz (B) Kinetic energy 5.s —& J¢  (C) Chemical energy & &< (D) Nuclear energy & ¥ »

43.The energy stored in dam water is: -‘gén&jip}aj}‘ﬂégérlj.%



(A) Electric energy &1 J A4

44.In Einstein’s mass-energy equation, c is the:

(B) Potential energy &1 <

(A) Speed of sound 4z § 7 (B) Speed of light 4= § "+
45.Rate of doing work is called:

(A) Energy $.1 (B) Torque ¢

46.In which of the following state molecules do not leave their position?

(A) Solid s+ (B) Liquid &t

47.Which of the following substance is the lightest one?
(A) Copper ¢ (B) Mercury §./
48.The Sl unit of pressure is:

(A) N (B) Nm

(C) Kinetic energy &1 —& (¢ (D) Thermal energy 8.1 J #

b/ rbe Ut el GA- S o T.44
-
(C) Speed of electron (D) Speed of Earth 4z § ¢’
by S
AP S S S d5
(D) Momentum (“f »

L3 I PGP Bt o5 f ol 46

(C) Power s,

(C) Gas ¥ (D) Plasma ..
e et yufaT
(C) Aluminum (=" (D) Lead .
W Bt g1 A8
(€)J (D) Nm™2

49.What should be the approximate length of a glass tube to construct a water barometer?

(A) 0.5m (B) 1m

50.The density of a substance can be found with the help of:

(A) Pascal’s law
o 4 d/u)l? Z J{/&

51.According to Hooke’s law:

(B) Hooke’s law

& 4 d/u]ff Z .{
(A) Stress x strain = constant ~ (B) Stress / strain = constant
o A Gl S

52.Water freezes at:

(A) 0O F (B) 320F
53.Normal human body temperature is:
(A) 159 C (B)379¢C

54.Mercury is used as thermometric material because it has:

(A) Uniform thermal expansion (B) Low freezing point
s 37 oLk sy b

55.Which of the following materials has large specific heat?
(A) Copper ¢ (B) Ice =
56.Which of the following effects evaporation?

(B) Surface area of the liquid
Ll S

(A) Temperature 7+

?é‘;wnﬂjmémf vf«fgéé'gt«.}{%mg.m

(C) 2.5m (D) 11m

_‘LC‘CL#(; (Pé".ihf 25750
(C) Archimedes principle (D) Principle of floatation
e su s £ Ui ceulddm iy

b Lyt L 51
(C) Strain / stress = constant (D) Stress = strain = »=¢; >
oLl et

e beerii fA U352

(C) -2730K (D) 00K
-« A Qe S 453
(C) 370F (D) 98.69C

(e Uy Bl e bl U b L oS v 318 .54
(C) Small heat capacity
F o

(D) All the above properties
lor? Vo
S Sl or? = 7ulit Pl d 55
(D) Mercury 5./ »
e b /20 P ozl e UE .56
(D) All of the above J1# (17

(C) Water &t

(C) Wind 1

57.Which of the following materials has large value of temperature coefficient of linear expansion?

(A) Aluminum ==& (B) Gold 5"

S Gl ied fe2 @1 g b L 220 e Uih5tn.5T
(C) Brass f* (D) Steel £~

58.What will be the value of /7 for a solid for which has a value of 2 « 103K ~1?

-JMQJM&’J/LSMJ(}J!;LJL‘; 2 % 105K ted S @ Lsug Gurdp L E U L.58

(A) 2 x 107°K 1 (B) 6 x 107K

(C)8 x 10713k 1 (D) 8 x 107K

59.Coefficients of linear expansion and volume expansion are relates:

-‘gd"? BB L5 $17 e o 0 3 7 .59



(A) 5 =3a (B) 5 =20 (C) 5 3 (D) « =35
(4}
60.In solids, heat is transferred by: - )K@A/Jﬁi‘lutrwu’} .60
(A) Radiation o1 $4. (B) Conduction o (C) Convection o5 (D) Absorption o7+
61.The thermal conductivity of a wall is ......... if its thickness is doubled? GBS B St Sy 61

(A) Becomes double Ao t35(B) Remains the same < (% s (C) Becomes half < db = &7 (D) Becomes one fourth

62.Metals are good conductors of heat due to the:

(A) Free electrons ws 21 s/ (B) Big size of their molecules

160 L o

63.The purpose of false ceiling is to:
(A) Lower the height of ceiling
U/(KJ?L{E! d/_‘we’

64.In gases, heat is mostly transferred by:

(B) Keep the roof clean
S o o =

(A) Conduction S (B) Molecular collision

5.5 67,0

65.Convection is the process of transfer of heat due to the:

(A) Random motion of molecules(B)

. Downward movement of
S PSP molecules

I e g § I8
66.Rooms are heated using gas heaters by:
(A) Conduction only i (B) Convection and radiation
1 St P
67.Which of the following is a good radiator of heat?

(A) A shining silvered surface

oty DI eN

(B) A dull black surface
C o Jue g

Q2. Tick for correct answer.

< Qe xdig
e K U B L 62

(C) Small size of their molecules (D)
Rapid vibrations of their atoms
AL o P

A E K AL
g bnsB WL g (11 § 7+ 63
(C) Cool the room ./ 14# ¥ </ (D) Insulate the ceiling
(S e e
e 7 Bl - 64
(C) Convection o1 §4. (D) Absorption 5

e K@/l]dlﬁ.}l a.{.uéu"’{fGS

(C) (D) Free movement of molecules
Upward movement of molecules

. Fo T § 2
e Gu § 2

:.gjj,wz.(gé(/ Py c;dWlLJf#wIGG

(C) Radiation only ¢ (4. (D) Convection only %5
?‘gﬁldfy(ﬁ’l J@/l]idufégﬂtj“}g/ﬂ.67
(C) A white surface & 4+~ L1 (D) Agreen colored surface

& d b

S Gosb g ne A2 se

1.The branch of physics which deals with study of motion of objects, is called:

(B) Kinematics iy

2.The study of internal structure of Earth is called:

(A) Sound %3l
(A) Atomic Physics /% ¢t (B) Geo Physics o/ #
3.Refrigerator is based on the principles of:

(A) Mechanics JC:(
4.The basic quantity is:

(A) Mass Ut (B) Volume ¢«s
5.ldentify the base quantity:
(A) Speed 4r (B) Areal

6.The unit of density in system international is:
(A) Kgm (B) Kgm"!

7.The number of basic units are:

(B) Thermodynamics u(w;r 4 (C) Sound %3l

(e Qe 0 e b £ P r Lozt ub U 5.1
(C) Mechanics JC:( (D) Thermodynamics gf'/b'b" » 3
e bl Ao KeSL it § e 2
(C) Sound %3L- (D) Heat
PR YT Y Ix
(D) Light esv
i Sl 4
(C) Torque /¢ (D) Momentum ~<»+
S e 65
(C) Force ¢ (D) Distance k<6
e LK 16
(C) Kgm™2 (D) Kgm3

eSS YT



(A) Three o (B) Five &4
8.Kilogram is a:
(A) Base unit ey $six

9.0ne micro meter is equal to:

(A) 106 m (B) 103 m
10.0ne millimeter is equal to:
(A) 1 mm3 (B) 1 cm?

11.0ne tera is equal to:

(A) 10-12 (B) 1018
12.0ne Femto is equal to:
(A) 10712 (B) 1012

13.0ne meter is equal to:

(A) 10 cm (B) 100 cm
14.0ne mega meter is equal to:

(A) 106 m (B) 10%9m
15.0ne giga gram is equal to:

(A) 109 g (B) 109¢
16.0ne pico meter is equal to:

(A) 102 m (B) 1012 m

17.0ne cubic meter is equal to:

(A) 100 liters (B) 1000 liters
18.0ne literis equal to ......... millimeters:
(A) 102 (B) 10°

19.0ne liter is equal to:

(A) 1 mm (B) 1 cm3
20.The least count of meter rule is:

(A) 1 mm (B) 0.1 mm

21.The length of a meter rule is:

(A) 1 meter (B) 0.5 meter

22.The least count of a Vernier calipers is:

(A) 0.01 mm (B) 0.01 cm

23.The least count of a digital Vernier calipers is:

(A) 0.1 mm (B) 0.001 mm

24.The least count of a screw gauge is:

(A) 1cm (B) 0.001 m

25.The number of significant figures in 0.00580 is:

(A) 6 (B) 5
26.0.027 has significant figures:
(A) 2 (B) 1

27.Motion of objects is studied in:

(A) Mechanics uﬁf( (B) Light 2.7

(B) Base quantity 1.+ ($sx

(C) Seven =L-

(C) Derived unit ey 57

(C) 10%m

(C) 1.dm3

(C) 1012

(C) 1071

(C) 10000 cm

(C) 100 m

(C) 103 g

(C) 106 m

(C) 10 liters

(C) 104

(C) 1 dm3

(C) 0.01 mm

(C) 2 meters

(C) 1 mm

(C) 0.1 cm

(C) 0.01 mm

(C) 3

(C) 3

(C) Plasma L1

(D) Nine /
:g...{l(lf;K.B
(D) Derived quantity ..+ 57
WYy Iy K
(D) 103 m
e 2310
(D) 1 m3
i A K111
(D) 108
e A3 112
(D) 1015
te s 2 L1A3
(D) 100 mm
WYy o SR
(D) 102 m
‘e i1 SEf 4115
(D) 106 g
e s l116
(D) 106 m
e Aol AT

(D) 108 liters
:‘4/,11,}-:& ......... 4 £1.18
(D) 10°
i 4s 45119
(D) 1m3
iK1 220
(D) 1cm
e Bl iz 21
(D) None of the above
(e K g .22
(D) 1cm
e LI s 423
(D) 1 mm
o LI 420
(D) 1 mm

oI Ur 201 40.00580 .25

(D) 2
:w;x«:ﬂu':o.OZ? .26
(D) 4
¢ bl I K S 12127
(D) Sound k3L



28.The straight line motion of a body is called:
(A) Translator motion (B) Linear motion Iy A
Fr §

29.The motion of a pendulum of a clock is:

(A) Rotatory motion ¢+ § ¥+,
30.The motion of a steering wheel is:

(A) Random motion o %/

31.To and fro motion of a body about its mean position is called

(A) Rotatory motion ¢+ § %+,
32.See-saw is an example of:
(A) Translatory motion (B) Linear motion o+ = ¢
S S

33.Brownian motion is:
(A) Linear motion o/ » = ¢ (B) Circular motion '»* # -
34.The flight of a butterfly is called:

(A) Random motion ¢#»* ¢%.  (B) Circular motion o/ £~
35.Which is a scalar quantity?
(A) Force ¢ (B) Velocity 15
36.Which one of the following is a vector quantity?
(A) Speed 4r (B) Distance <t

37.Which one of the following is a vector quantity?

(A) Force /s (B) Work /s
38.......... is not a vector quantity?
(A) Displacement o3 (B) Velocity (5" us

39.Which is a scalar quantity?
(A) Force ¢ (B) Power s,
40.Which is not a scalar quantity?

(A) Speed 4r (B) Distance <t
41.Vector quantity is:

(A) Speed 4r (B) Distance -

(B) Vibratory motion ¢/ ¢ %15 (C) Linear motion o » # ¢

(B) Rotatory motion ¢ (§ ¥/

(B) Random motion o/'»* ¢z

WPt F 6528

(C) Random motion ¢/ »* ¢4 (D) Vibratory motion S Sl

‘e S rdin L SK29
(D) Random motion o/'»* ¢z
—e S rd S E .30
(C) Vibratory motion o7+ § 41s (D) Linear motion o/ » =
QW Pl LTL es1y P .31
(C) Vibratory motion ¢f» § 4<1> (D) Circular motion o » £ -
—eJeLiFrdly.32

(C) Random motion o/ *%» (D) Vibratory motion ¢/ »* & <1

‘e 9133
(C) Vibratory motion ¢7» § 21 (D) Random motion o'»* %/
e il 34
(C) Vibratory motion o7+ § %415 (D) Rotatory motion o/ »* (§ %+,
S AZ 5 0735
(C) Acceleration o A1 (D) Work /s
S Ao LIS o e L3 200236
(C) Velocity " vs (D) Mass Ut
Se i LI5St 2000.3T
(C) Power s, (D) Mass L

(C) Work /2 (D) Torque St

St AP L5 o e ek 200,39
(D) Torque St

S N K5 i e 00080

(D) Power ;|

(C) Velocity 5" vs

(C) Displacement w73
e oy

(C) Displacement o5 (D) Power

42.A sprinter completes its 100 metre race in 12s, its average speed will be:

(A) 100ms” (B) 12ms™
43.Unit of velocity is:

(A) Meter per square & » & <
44.Speed of a falcon is:

(A) 150kmh™"! (B) 250kmh™"

45.Acceleration is equal to:

(A) VI —vi (B) VI + Vi
46.The speed of a cheetah is:
(A) 200 kmh"’ (B) 70 kmh"’

(B) Meter per Second 2 3 % (C) Second &

S bt S tea b SIF S HEAA IS 1210005 2 1 42

¢

(C) 8ms"" (D) 8.33ms™’
—e 51543

(D) Meter ~
ce b $inL 44

(C) 300kmh’ (D) 200kmh’
e M1 45

(C) vi* — v/t (D) vi* + v/t

PR (¥ 3

(C) 100 kmh""! (D) 90 kmh"’



47.If an object is moving with constant speed, then its distance-time graph will be a straight line:

K Bl LS Pt e S ST e e 20H 7 (N1 4T

(A) Along a time axis £ /fl ( ¢ (B) Along a distance axis (C) Parallel to a time axis (D) Inclined to a time axis

£ Lo Jie £ A p PRV
48.The area under the speed-time graph represents: -g.t'/ ﬁwg/ﬂ;’,é,f tiy.48
(A) Distance <6 (B) Speed L (C) Time F¢ (D) Velocity & us
49.To convert ms™" to kmh": 1L S Utkmhyms™1".49
(A) Lo (B):S.G kmh? (géms_l 03 ek (D) =72 kmh!
1ms " = ka % 3600h
50.Convert 54 kmh™! into ms™: /S stms 1 fkmh 154 .50
(A) 5ms! (B) 10 ms™ (C) 15 ms™" (D) 20 ms™
51.Complete the equation: v -v2= ... =vé -2 1/ i1
(A) S (B) V 5y (C) 2aS (D) t
52.Complete the equation: v¢= ...~ . =V J‘( = lsl-.52
(A) vi - at (B) vi + 1/2at2 (C) v; + at (D) S/a
53.Third equation of motion is: —eeblal A Se7.53
(A) S =vt (B) vs=v; +at (C) v2 - v =2aS (D) F=ma

54.The acceleration of a body falling down freely is approximately: -aax[/. Pl JL’F‘A@’.L(&!L;«L/ ;;;l;ljf.54

(A) 10 m2s2 (B) 10 ms™ (C) 10 ms™ (D) 10 m2s™"

55.The quantity possessed due to mass and velocity of a body is called:  _ &L s P e os G VUit 55
(A) Acceleration u"%)n(u (B) Velocity (5" us (C) Momentum (“»’ # (D) Inertia 21

56.Formula of momentum is: -‘au,»/w,ﬂf .56
(A) M =mv (B) P=mv (€) P=mv" (D) M = my2

57.Mathematically momentum is defined as: - j" d/ (“‘f r;é’i.)d&S?
(A) P = vim (B) P = my? (C) P = (mv)? (D) P=mv

58.The product of a mass and a velocity of a body is called: A ALLS b L7 58
(A) Torque /¢ (B) Force ¢ (C) Work /2 (D) Momentum ~<»-

59.The Sl unit of momentum is: -‘agi,gutﬁj-‘lf“’(f‘.‘fr.w
(A) Nm (B) Kgms2 (C) Ns! (D) Ns

60.Which of the following relation is correct? ?‘auug}w L e St30..0.60
(A) F=m-a (B) F=ma (C) F=mla (D) F=a/m

61.A mass of 6kg is moving with acceleration 2ms™2. Force actingonitis:

e udd i SIS 1SS e R L2ms 27 (ixbkg 61

(A) 3N (B) 4N (C) 8N (D) 12N
62.Weight ‘W’ is equal to: 24’ Ws.62
-5
(A) w =mg B)w=" Cw=2 D)1
g m mg
63.The unit of weight in system international is: -‘4&,,{@);‘}?‘)"? j-'l("" .63
(A) Dyne /5 (B) Kg 1./ # (C) Pound x4, (D) Newton ¢/

64.How much acceleration is produced by a force of 100 N in mass of 50 kg?

O st s I 7 1 L 50Kg 9 100N .64



(A) 0.5 ms (B) 20 ms2 (C) 0.05 ms
65.1 Newton is equal to:
(A) 1 kgms™2 (B) 1 kgms (C) 1 kgms™!

66.The weight of a body is 147 N. lts mass will be:

(A) 147 kg (B) 14.7 kg

(C) 0.147 kg

(D) 2 ms™2
~e 14 £ k165
(D) 1 kg 'm s
KU \6U1-¢ 14TNsE < (i .66
(D) 1.47 kg

67.The force produces an acceleration of 10 ms2ina body of mass 5 kg. The value of force is:

Sz § o3I P Mems 10027 L \SkgudLi 67

(A) 2N (B) 20N
68.Rate of change of momentum is equal to:
(A) Torque /¢ (B) Force 4

69.Complete the equation: @

(A) F (B) S €T
70.According to law of conversation of momentum:

A)y- T B M C)V =
(A) v W (B)y - > C)v

71.The force that opposes the motion of moving objects is:
(B) Action ¢/

72.The maximum value of friction is called:

(A) Weight ¢/

(A) Cold welds s.iks 25

73.Coefficient of friction is equal to:

(A) FgR (B) FsR (C) RIFg
74.Coefficient of friction between glass and glass is:
(A) 0.9 (B) 1.0 (C)os8

75.The value of coefficient of friction between steel and steel is:

(A) 0.05 (B) 0.09 (€) 0.9
76.Co efficient of friction between tyre and dry road is:

(A) 0.6 (B) 1.0 (C) 0.05
717.Coefficient of friction between the tyre and road is:

(A) 0.2 (B) 0.6 (€) 0.8
78.Coefficient of friction between the ice and wood is:

(A) 0.29 (B) 0.05 (C) 0.2
79.Coefficient of friction between the iron and iron is:

(A) 0.9 (B) 0.62 (€) 0.8

80.The force required to move the car in a curved path is:

(A) Centrifugal force (B) Tension i
v S

81.Which force rotates the body in a circle?
(A) Magnetic force ¢ &£ (B) Gravitational force
SN

82.The number of vectors that can be added by head to tail rule is:
(A) One (i
83.5/int =

(B) Two 2

(C) 30N

(C) Net force s <

(C) Gravitational force

uid S g S

(C) Centripetal force
A S

(C) Four ¢

(D) 50N
bl S8 A .68
(D) Distance k<6
@ (S =il 69

(D) M
M L6 £ Ha L(""’f ».70
_mv D)y _M
m

-‘48/14.«;.:«;(4}?J/JrLzanL/J]:?J/}u.ﬂ
(C) Friction o* 3

(D) Momentum (V"f »
-‘aalkf&g’ioa)ycu&}d/uy/’Jz

(B) Normal reaction o*1 §, .t (C) Limiting friction o2 &= (D) Kinetic friction o & (¥

a2 Q1S53
(D) Fs+R
el L e n Lo Em K14
(D) 0.2
eedfet @S L foenl K L T5
(D) 0.8
e d § BB L s Lisstbs 1 72,76
(D) 0.2
e dE 2B L P n L .TT
(D) 1
e St L P e n LI 95278
(D) 1.0
U (ST (VP VN R Y B [
(D) 1.0
e Ot (LSS S d P 5 29 80
(D) Centripetal force
U S
te QS et7 Ut 2 U5 i 81
(D) Centrifugal force
VAL 2
e (PGS e s 9482

(D) Any number 5.7 U

Sing =83



(A) base
perpendicular

84.Costl =
(A) perpendicular
hypotenuse

85.Tan 45°is equal to:
(A) 0.5

86.Sin 45is equal to:
(A) 0

87.Sin 45° = Cos 45°
(A) 1.732

88.The value of sin 90° is:

(A) O

89.The number of perpendicular components of a vector are:

(A) Four &

90.Formula for the direction of resultant force with the help of rectangular components is:

(A) 6= tan -1 F,JF,

(B) base
hypotenuse

(B) perpen dicular
base

(B) 1.732

(B) 0.5

(B) Undefined

(B) 1

(B) Three o

(B) 6= tan - Fy/F,

91.The direction of force ‘F’ with x axis is given by:

(A) 6= tan - F JF,

92.Complete the equation: 8 =

(A) 6=tan " F JF,

(B) 6= tan - Fy/F,

(B) 6=tan " F,/F,

(C) Perpen dicular
hypotenuse

(C) _ base
hypotenus

(C) 0.577

(C) 0.707

(C) 0.866

(C) 10

(C) Two »

(D) perpen dicular

base
Cost =84
(D) base
perpendicular
-¢-41.Tan45°.85
(D) 1
¢ 148in45°-86
(D) 1

......... =Sin45°=Cos45° .87
(D) 0.707
-4 fsin90° .88
(D) 0.5
e AIESE o £ FsT 89
(D) One i

-%U)’JGKL/()&’MJJJ}MZJ:.)A Ju"’:;;{d))fgo

(C) 6=sin 1 F JF,

(D) 6= cos ' F,/F,

Ur KL S r)’”:_z.liéx-axisugf’ F‘u’;}u/.91

(C) 6= sin -1 F JF,

(C) 6=sin T F JF,

-+
(D) 6= cos ' F/F,
......... =0_ S/ =il 92

(D) 6= cos ' F/F,

93.In a right angled triangle, length of a base is 4 cm and its hypotenuse if 5 cm. The length of a perpendicular is:

L QU e emBAL s memadU Sont Lt Lo H1ni LT 93

(A) 1cm

(B) 3cm

(C) 20 cm

94.A force of 10 N makes an angle of 900 with x-axis. lts horizontal component is:

(A) 10N1ON

(B) 5N5N

(C) Zero 4¢

(D) 9cm

ez S P Qb 98900 2L L x-axis s LIN10 -94

(D) Maximum ssl s < sl

95.In a right angled triangle, length of a base is 4 cm and perpendicular is 3 cm. then its tan @ is equal to:

Snedtan0i_ 3emiu st sdemBL Sost Ut el o276 L1 95

(A) 0.8

(B) 0.75

(C) 1

96.If Fy = 4N and Fx = 3N, what is the magnitude of a resultant force?

s Sud ity & s 13 nFx=3NsiFy=4N1 .96

(A) 7N

(B) 5N

97.The turning effect of a force is called:

(A) Momentum ("»” #
98.Torque is equal to:

w,-F

99.In SI, unit of torque is:

(A) Nm

(B) Torque ¢

B),-F

(B) Nm™!

(C) 12N

(C) Pressure 2.

(C)T:Fxt

(C) Nm?

(D) 0.6

(D) 10N
2 n S L Uiss o1
(D) Work /s
~e 2 Sk.98
(D)7 =FxL

Lt 99
(D) Ns

100.The perpendicular distance from the axis of rotation to the line of action of force is called:

e b LS5 6 d T ST e P aiT 41,100



(A) Torque /¢ (B) Moment arm 7 w2

101.The centre of gravity of a triangle is at:

(B)

Point of intersection of medians

(A) Centre

4 &E Iy &L{‘/)
102.The centre of gravity of uniform

(A) Triangular ¢’ =4 (B) Solid cylinder & Lt
103.Centre of gravity of a sphere is at:
(A) Centre of a sphere # ¥ #~ (B) Outside of a sphere

Al

(C) Momentum <, (D) Work s
bl g S T et 01
(C) Centre of axis % 57 & (D)

Point of intersection of diagonals

4 & b L 2

sheet is the point of intersection of its diagonals:

e bt S ST Aot K i fi 414 U% & s 102

(C) Circular ring ¢ & £ (D) Square ¢ &
e by ST 62103
(C) Radius of a sphere (D) None of the above 2’ {5

ey

104.The centre of gravity of an irregular shaped body can be found with the help of:

(A) Wedge & (B) Metre rod s, <

-‘at‘lgy/r:h‘a.ud/. ........ &{’/JT}“V()‘LJ&DJ&G'{_.{M 04

(C) Plumb line o/v <& (D) Screw gauge & +

105.Point of intersection of medians is the centre of gravity of a uniform:

(A) Rod 31, (B) Circular ring £, % -
106.A body is in equilibrium when its:
(A) Acceleration is zero

(B) Speed is uniform » .2y 4

107.The conditions for equilibrium are:
(A) One ugl (B) Two 1
108.According to 2" condition of equilibrium, must be zero:

(A) Angular acceleration (B) Linear acceleration

FMI Ik HM £
109.States of equilibrium are:
(A) One .,{l (B) Two 1

110.A pencil lying horizontally is the example of:
(A) Equilibrium ¢ 7 51 (B) Stable equilibrium
EF Sk Lk G
111.An example of neutral equilibrium is:

(A) Football Jy =5 (B) Block /i
112.The idea of gravity was first put by:

(A) Galileo s+~ (B) Isaac Newton ¢/ ST

-‘at‘n&',g/JT}‘K ......... r;lﬁg#;wi/,ﬁ‘f?élb;ﬂ 05
(D) Triangular sheet =& &
Ag bt JskiF? £1.106

(C) Solid cylinder it s+

(C) Acceleration is uniform (D)
s e 2 s Srr])i?;dmand acceleration is
o P2y ﬁ){! 2l &y
i 2 ASE1.107
(C) Three o (D) Four i,

b9 L b £ 28 S A 541108
(C) Rotational force ¢+ # & (D) Sum of forces <% & .3

LS AS£1.100

(D) Four &
et S dngy e AP0

(D) Neutral equilibrium

(C) Three %

(C) Unstable equilibrium

A GH i 6 2 RN
e JBSEAS I 221
(C) Pencil at its tip (D) Book on a table
JHdegy S U8y
W e ¥y S 12
(C) Hooke o (D) Einstein o/t 7

113.A force which is inversely proportional to the square of the distance between the centres of bodies is:

O e dnf & L8 L&y n L plai 235013

(A) Frictional force Jj/ (B) Centrifugal force
uib Fi
114.Value of Gravitational constant ‘G’ is:

(A) 6.67 x 10" Nm2kg2 (B) 6.67 x 1010 Nm2kg2

(C) Centripetal force (D) Gravitational force

uid P s
ot Py /14

(D) 6.67 x 1012 Nm2kg2

V-

(C) 6.67 x 101 Nm?kg2

os L



115.Near the surface of Earth, the gravitational field strength is:
(A) 5Nkg"™
116.The mass of Earth is:

(B) 6 Nkg"* (C) 8 Nkg™”

(A) 6 x 10* kg (B) 6 x 10" kg
117.The mass of a boy is 40 kg. its weight on earth will be:
(A) 200 N

(B) 300N (C) 400 N

(C) 6 x 1024 kg

e §SWEWS$0S o LT Seti5

(D) 10 Nkg"*
U116
(D) 6 x 1024 kg
EneliskU gt i-40kgUIE LS L 1T
(D) 500 N

118.The value of g on Moon’s surface is 1.6 ms™2. What will be the weight of a 100 kg body on the surface of the Moon?

ek L L100kg 8 (s 1.6ms2nd(fg () oy 118

(A) 10N (B) 16 N (C) 100N

119.Formula of mass of Earth is:

(A) . . 97° (B) . . 97 (€) .. 97°
Me = Me = G Me = G-E

120.The value of “g” increases with the:

(A) Increase in mass of the body (B) Increases in altitude

i L R o il g e o
121.Value of ‘g’ at sea-level is ......... than hill:

(A) Lessf (B) Greater s\ (C) Equal 21«
122.The value of ‘g’ at Moon is:

(A) 1.6 ms2 (B) 1.6 cms™ (C) 1.6 ms™
123.The value of ‘g’ at Jupiter is:

(A) 1.62 ms™ (B) 9.8 ms? (C) 10 ms™2
124.The value of “g” on the surface of Mars is:

(A) 3.73 ms™ (B) 1.62 ms (C) 8.87 ms™

125.The speed of geostationary satellite with respect to earth is:

(A) Double o (B) Same 11 (C) Zero 4~

126.The total number of satellites in global positioning system is:

(A) 12 (B) 22 (C) 24
127.The speed of a satellite nearest to the earth’s orbit is:
(A) 6 kms™ (B) 7 kms™* (C) 8 kms™

128.The height of a geostationary satellite is about:

(A) 42,300 km (B) 6,400 km (C) 10,000 km
129.The moon is nearly ......... away from the Earth:
(A) 3,80,000 km (B) 3,800 km (C) 37,000 km

130.The moon completes its one rotation around the Earth in:

(A) 25.3 days (B) 27.3 days (C) 29.3 days
131.The centripetal acceleration is inversely proportional to:

(A) Mass Ut (B) Velocity (5" us
132.Centripetal force is directly proportional to:
(A) m? (B) v2

133.Which force rotates the body in a circle?

(C) V

(C) Decrease in altitude

(C) Radius (24,

1
(D) 160 N
- Ur 6L S o K119
R
O m, - 5

~eFreddg 120
(D) None of the above %’ {5

e Qnt e LutgedSg el 121
(D) Half &57
¢ bneddo il doyp 122
(D) 1.6 km"’
=g 123
(D) 25.94 ms2
¢ 8nd89,l $b 124
(D) 10 ms™2
ceQnby e 2z e L 4125
(D) Less
o pe F Ut By S8 126
(D) 25
ceQnky ey s Lo L gtin2T
(D) 10 kms™”
-Gl P sbfaiwer§ 22128
(D) 38,000 km
el P eI 41129
(D) 37,0000 km
b I Sl S L 130
(D) 31.3 days
et gy HAMI S 2131
(D) Mass and radius (=4 s Ul
b o Se S e 132
(D) R

S QS it 4o Sl 7 e 0 S bl 133



(A) Magnetic force s»# &£+ (B) Gravitational force (C) Centripetal force (D) Centrifugal force

SZN s Ui S S SZNERT S

134.The velocity of geostationary satellites with respect to Earth is: -‘Lgnr.wéutju" ¥ o § 22134
(A) Zeros. (B) 5 kmh™! 5 kmh"’ (C) 10 kmh™" 10 kmh! (D) 15 kmh™" 15 kmh!
135.The S| unit of work is: e J* K135
(A) Newton /¢ (B) Joule J (C) Watt s (D) Pascal (£,
136.Kinetic energy is directly proportional to the ......... velocity of a body:

Oty FEIBE o LEWSE P 855 BES 2 5136
(A) Square & (B) Two ties /3 (C) Three times ¢ ¢ (D) Four times " ¢

137.1f the velocity of a body is becoming three times greater, then kinetic energy will be:

8 SISl G173
(A) Three times ¢ ¢ (B) Nine times " 5 (C) Four times ¢/ ¢ (D) Six times ¢
138.The energy possessed by a body by virtue of its motion is called: _‘géuf &/‘ldl,i.lgégr—e’d/ % rd/u’lui‘ﬁ u’(.138
(A) Nuclear energy &1 5% (B) Chemical energy .1 L (C) Kinetic energy .1 & dy (D) Potential energy .1 Jf‘fg

139.The energy in the stretched bow is: -‘4811[ G2 Sk Jm?' 139
(A) Elastic potential energy (B) Kinetic energy J./1 & J¢  (C) Heat energy G/ w.r (D) Sound energy &1 ZiL-

G Py B

140.Hammer raised up has energy: -‘géndju‘:d}ﬂénd’,c&.mo
(A) Potential energy &/ J“"‘Sbg (B) Kinetic energy 5.1 —& (¢ (C) Sound energy &1 ki (D) Heat energy §./1 <.
141.......... device converts light energy into electrical energy: -4.8/ J,,«;‘ut&jlﬂ 24 J.jl..r.ﬂujigj .......... 141
(A) Electric bulb 4 ¢ (B) Electric generator %z /¢ (C) Photocell J& ## (D) Electric cell = 44
142.There is a hot molten part, deep in the Earth called: -+rm,u:xwfr/ BAE FAVECINL Y]
(A) Lava sy (B) Magma & (C) Mixture ;‘( (D) Plasma Lk

143.The source to produce pollution free electricity is: -‘44/50./1&65' %14;&2{.143
(A) Coal Js (B) Oil J7 (C) Wind turbine ¢/1./ %» (D) Radioactivity (5 174
144.Power is equal to: -¢ 14144
(A) Wxt (B) w/? (C) W2/ t (D) W/t

145.10 joules work is done by a machine in 5 sec, its power will be: -d’nungﬁ.S/&,@JﬂOgﬂ%Su?ug 145
(A) 2W (B) 10W (C) 25 W (D) 50 W

146.0ne horse power is equal to: -‘gx,u,»guay.,{l.MG
(A) 764 W (B) 746 W (C) 1000 W (D) 1100 W

147.1 MW is equal to: -e2.MW1 147
(A) 102w (B) 10w (C) 106w (D) 108w

148.0ne kilo joule is equal to: -«412KJ1 148
(A) 103w (B) 106 W (C) 109 W (D) 103w

149.Molecules are very close in body of: -wé’.;:..{;iwd(" ......... ﬂ.:?(..149
(A) Plasma it (B) Solid s # (C) Liquid &, (D) Gases -

150.The fourth state of matter is: -‘4:)(,@’ 2U»i.150
(A) Solid o+ (B) Liquid & (C) Gases (D) Plasma Lk

151.Mass of unit volume of anybody: -q.rlhfu’t(().l,g;gé,/?u/JM
(A) Area ./ (B) Density &5 (C) Force U (D) Surface &

152.In SI, the unit of density is: eSS 214 152



(A) Kgm™" (B) Kgm™>
153.Density = .........:
(A) Mass/volume i/ ¢sis (B) Weight/volume cus / #+1s

154.Mercury is denser than water:
(A) 10 times 10 ¢~ (B) 12.5 times 12.5 &~
155.0ne Pascal is equal to:
(A) 104 Nm2 (B) 1 Nm2
156.In SI, the unit of pressure is:

(A) Nm™2

157.At sea level, the atmospheric pressure is about:

(B) Kgk*
(A) 101,300 Pa (B) 110,300 Pa
158.......... works on Pascal’s law:

(A) Screw gauge { o (B) Vernier calipers ,;3:( /o
159.Hydraulic press works on:

(A) Newton’s law ; w76 £ /¥ (B) Pascal's law ; w56 £

160.The Upthrust force of a liquid is equal to:

(A) pgv (B) pgV

(C) Kgm™2 (D) Kgm"”
= 54153
(C) Weight/mass wis | Ut (D) Mass/volume i/ s
M LSS 154

(C) 13.6 times 13.6¢" (D) 10.5 times 10,567

b, F .55

(C) 102 Nm™2 (D) 12 Nm2
e B S 14 156
(C) Nm (D) Kgm3

b By b st it AT
(C) 103,100 Pa (D) 1000,130 Pa
b/ i L K 158
(C) Hydraulic press =, 0., (D) Wedge &>

- b/ P62 %159

(C) Archimedes principle (D) Hooke’s law ., w6 & o
L E st

O U1 SEL160
(C) pgh (D) poA

161.1f ‘W’ is the weight of the body and ‘F’ is the upthrust of liquid, then the body will float if:

(A)W>FW>F (B) W<FW<F

162.The ratio between stress and tensile strain s:

(A) Elastic modulus "5+ £/ (B) Bulk modulus s3>
163.Stress/Strain =...........
(A) Pascal’s law ¢/#6 ¢ J@ (B) Newton's law ¢/56 & 5

164.SI unit of stress is:
(A) Nm™2

165.5 liter is equal to:

(B) Nm*

(A) 5x 103 m3 (B) 5x 103 m?

a b2 U I U SIS D Wk uf}mm
4

(C)W=FW=F (D) Both Band CB s C Usss
ce QW e nly SR 2162
(C) Young's modulus "5+ & (D) Shear modulus s+ &
I e e 163
(C) Archimedes’ Principle (D) Hooke’s law /46 € o
U € Uals
-2y 164
(C) Ns (D) Nm
¢ty /5165

(C) 5x 103 cm™ (D) 5x 103 cm?®

166.Stress is equal to: - #.166
() force (B) &4 () fength D) .22

area force area length
167.In ......... state of matter, molecules do not leave their position. -ngu.‘f Sig .J?&lﬂ;;?(.u’::)la ......... Ju(..167
(A) Solid -+ (B) Liquid &, (C) Gas 4 (D) Plasma s

168.Metals are good conductor of heat due to the:
(A) Free Electrons s 28 sis7 (B) Big size of their molecules

160 L

169. ......... of crocus is natural thermometer:
(A) Flower J# (B) Seed &

170.The water converts into ice at a temperature:

LS BN EL NS 7 #4168

(C) Small size of their molecules (D)

A bE KA L 22?;((1: llllié)sr.ation of their
JVJ%’J?{?LLQI
B BB 6727169
(C) Steme (D) Root 2

S bl LSy f AU U1T0



(A) 0OF (B) 320F
171.Boiling point of water is:

(A) 00 C (B) 1000 C
172.Mercury freezes at:

(A) 0°C (B) -357°C
173.Temperature of ice in freezer is:
(A)0°C (B)-8°C
174.Complete the equation: T(K) = .........:
(A) 273 +C (B) 273-C
175.Absolute zero is equal to:

(A)0°C (B) 100 K

176.0n Celsius scale, 50° C is equal on Fahrenheit scale to:

(A) 100° F (B) 102° F
177.Unit of specific heat capacity in Sl system is:
(A) Jkg K" (B) J kg K"
178.Specific heat of iron is:

(A) 387.0 Jkg 'K (B) 920.0 Jkg™'K"*
179.The specific heat of water is:

(A) 800 Jkg 'K (B) 4200 Jkg'K*
180.Latent heat of fusion of 1 kg of ice at 0° C is:

(A) 33.6 x 10° Jkg'" (B) 3.36 x 10° Jkg™’

181.Which gas is used in spite of Freon gas in refrigerator?

(A) CO, (B) Hy

182.The way by which transfer of heat takes place are:

(A) One i (B) Two »

183.Unit of rate of thermal energy is:

(A) Kelvin ¢ (B) Joule per second £ ¢ J#

184.The unit of rate of conduction of thermal energy is:

(A) Js'! (B) J

185.Thermal conductivity of silver is:

(A) 245 Wwm K- (B) 105 Wm K"
186.Thermal conductivity of rubbers ......... wm K
(A) 0.08 Wm K" (B) 1.7 Wm 'K

187.The thermal conductivity of a dry airis .........
(A) 0.08 Wm™'K" (B) 003 Wm™'K"
188.Thermal conductivity of brick is:

(A) 0.6 Wm™ K" (B) 0.2 Wm™ K"
189.The unit of thermal conductivity is:

(A) WmK (B) wm™'K-*

190.The thermal conductivity of water is:

(C) 2730k (D) 00K

Sy BgL AT
(C) 273°C (D) 100K
~e 2§/, AT2
(C)-39°C (D) -100° C
bt P St AT
(C)-18°C (D) -28° C
_ =(T(Ky S/ ebl174
(C) 273 +F (D) 273-F

~ebs iy ) AT5
(C) 100° C (D) -273° C
n/.l/./,f./:,;C°504J:CJ1~’l"/ A76
N4

(C) 122°F (D) 90° F
e PO S AT
(C) JkgK (D) Jkg2K2
ce s e 7§ ) AT8
(C) 470.0 Jkg' 'K (D) 903.0 Jkg™ 'K
o 2 73179
(C) 2500 Jkg' 'K’ (D) 1760 Jkg 'K
-JMJ;;&"JWEJJ/.(;/)’1,J./0°C 180
(C) 3.36 x 103 Jkg"" (D) 336 x 10° Jkg'*
S QoS U 5 us  E S S Ut 181
(C) NH; (D) N,

“BESL a7 61182

(C) Three & (D) Four i
—e iy fSE U 5183
(C) Joule J= (D) Second per joule J# ¢ 4£
e PSP H BN 2184
(C) K (D) JK-*
IS AF AT AL
(C) 400 Wm™ K- (D) 430 Wm'K""
DTS AP RN
(C) 0.2 Wm™ K- (D) 0.59 Wm" 'K’
< GBS 3§ 5.187
(C) 0.02 Wm™ K- (D) 0.026 Wm-"'K""
GBS P 188
(C) 0.8 Wm™'K-" (D) 1.7 Wwm- 'K
—e IS 2189
(C) wmk-" (D) wm?K-*

-GS 2831190



(A) 245 Wm K- (B) 0.6 Wm K"

191.Thermal conductivity of ice is:
(A) 1.8 Wm K" (B) 0.9 Wm'K-!
192.Which of the following is a bad conductor?
(A) Gold ¢ (B) Wood ¢
193.Example of a bad conductor is:

(A) Gold ¢+ (B) Iron (¥

194.Heat transfers through fluids by the method called:

(A) Radiation *1 (4. (B) Conduction s
195.Reason of glider to remain in air is:

(A) Power s, (B) Conduction o
196.Land breeze and sea breeze are the result of:
(A) Conduction Ess (B) Convection SE
197.In liquids, heat is mainly transferred by:

(A) Free electron 51 441 s, (B) Conduction o
198.The major source of energy is:

(A) Moon ¢ (B) Earth ¢’
199.A Leslie’s cube has faces:
(A) Two » (B) Four &
200.Which colour is a good absorber?

(A) White 4~ (B) Black s,

201.Warm clothes for winter season are:

(A) Woolen & (B) Silky &~

202.A good absorber of heat:

(A) Dull black surface (B) Coloured surface i/ u:f J
C o v o

203.Global warming is due to a gas:

(A) Oxygen o= 7

204.The word “science” is derived from:

(A) Urdu s (B) Arabic ¢ #

(C) 0.8 Wm K"

(C) 1.7 Wm K-

(C) Iron s

(C) Wool s

(C) Convection o5~

(C) Radiation o1 $4.

(C) Radiation o/ (4.

(C) Radiation ¢ $4.

(C) Nuclear fuels /5 #¢

(C) Six £

(C) Shiny 14%

(C) Plastic &1

(C) White surface & 4~

(B) Carbon dioxide #L/T (15 ¢z¢ (C) Carbon monoxide

Z.;L",T Iy gk

(C) Latin v

(D) 0.59 Wm" 'K’
e GBS 385,191

(D) 2 Wm™ K"

S PP e S5 p0ur 192

(D) None of these = ¢+
e JES P93
(D) Graphite s/
- ez @I 194

(D) Absorption 741z
~e b fin L 38195
(D) Convection %5
Ul o S A N2 196
(D) Absorption 741z

-~ b @I 7 gt 21197
(D) Convection %5
- 2312654198
(D) Sung.s
tbnu S §2.199
(D) Eight £7
Seoud ip\g1El-wf 200
(D) Colored oz,
st S L Luysr201
(D) Cotton /¢
il g g6 7,202
(D) Shining silvered surface

£ 35 e

e s U s 5,203

(D) Chlorine ¢/.#

e 3PN 1. 204
(D) English /%
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Q1.  Write short answers of the following
questions.

-U,:/( £ /" AR /‘:" Z:.:«Ulr‘d; Sousnr

Define Physics and write the names of its two branches.

-firlréujﬁ}}f’/ﬁ’u/(d/?d/w/j}

—_

Define mechanics and electromagnetism.

-J/_m/ Jr - }‘?1':.::»’ mvﬁ

Define atomic physics and nuclear physics.

Define plasma physics.

Define nuclear physics and geophysics.

Define Geophysics.

Differentiate between atomic physics and plasma physics.

Define mechanics and Geo physics.

Define plasma physics and Geo physics.

Ol | N|lo|lo|r]|w|d

Define plasma physics and nuclear physics.

-
o

Write four advantages of Physics in our daily life.

—_
—_

On which principles of Physics car and refrigerator is based
on?

rg{,J/iJ/LJK};Jﬁj.ﬂu}l/K .

—_
N

Define physical quantities and derives quantities.

-Q/JL}JU;/I,&'/}?LAIG.% .

Define base and derived quantities.

-ﬂﬂ}(!u;/!ﬁdfl.uld)@ .

What is meant by base units? Give two examples.

-Lj»;uijlffuu?l?tg:l/gc_&zd&% .

Write the names of four derived units.

L S

Define derived units and write two examples.

_Q}J@}}/J’ﬂ;—?}&fz}.jlo .

Define base and derived units.

-Q/bé//yd/u’?g}fl./}ldﬂj. .

Which base quantities have units Mole and Kelvin?

c 1 LU ST sy

Y. :’:\

What is meant by prefixes? Give an example.

_Q}JC"/JIQ/_.Q/?J%d{, .

Define prefixes and write two examples.

_Q}JC"/JIQ/_.Q/?J%d{, .

et e FEIEL

0.00045s.s 3,84,000,000m-u:‘”iu1pl§5u’3£" .

210g- km0.00580_ 27 o Il

o I e o FELT

RSO s Dy

?‘g;l/&fcéf}/g&/:"écaﬂn?k, .

Define zero error and zero com

?§.J|/y(4;u“g/ﬁ4)/;1/41;4) .

What is meant by vernier constant?==""

?4".)|/LJ/¢¢«&U//’::/5 .

V
?‘L;l/_l{fc,/d;{‘]r"cul//15//!/! .

Defme pitch of screwgaugse

?%J’/g&@({@fx; .

rew gauge will be positive?

When the zewf

et ;’:;g//“u/guﬁ@fg? .

Why a screw@wge méastires more accurately than vernier
calipers?

?ﬁ;lz,)u{f@.o;g];] e /’::/5‘@'/;"} .

What is a physical balance’?

S UUESEF

Differentiate between electronic balance and phsical
balance.

SRR

Differentiate between a mechanical stop watch and digital

_Q:/J/.uf@bb?«l"/ﬁfulﬂ .
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stop watch.

Define measuring cylinder and write its uses.

-ﬂJw’&v’/ﬂq/b—?/jJ/i»(jj% 37

Write the method of measuring volume of an irregular
shaped solid.

o e S e Pt 38

How can you determine volume of an irregular shaped object
using a measuring cylinder?

oo Lo g o e JAL G T 39

Write two rules to find the significant digits in a
measurement.

What we shall obtain to round of the last digit (5) from 1.35
and 1.457

/,-1.3v‘¢mmug{_z_mmﬁ%@W@/£9 A1

1.45

What is meant by kinematics?

42

5What is translatory motion and linear motion?

43

Define circular motion and give example.

44

Define random motion. Give example.

45

Differentiate between rotatory and vibratory motion.

:b/'u:cf!"d/":ﬁ'!wigfrdﬁu 46

Define and explain vibratory motion with example.

}de‘”/}‘q:/(b{?/?d/u:}”dﬁ/’} A7

Give two differences between rotator and random motion.

N _,g_q/u&i&/'};u:ué)”"j/://}‘uﬁ}”dj;}/ .48

Define motion and write types of motion.

et LBy Sy S Sy 49

Differentiate between linear and random motion.

_Q/J/U:J}/‘(j(,ujlﬁd .50

Define linear and translatory motion.

_J/J/Jird;ui/"mjrﬁd 51

Define vibratory motion and give example.

-J}JV};!J/J/’JJ}” //' 71y .52

Define scalars. Give their example.

ey Sy A 53

Define vectors. Give their examples.

ey S 6 A 54

What is meant by position? Explain.

S eoloniy Sy J Sy 55

unit?

PRI ) g o U QL1 S P Sy .56

Define uniform speed and non-uniform speed.
speed).

-Q/by/j.d/,ér%d(’u}u;grzbgg 57

Define velocity. Write its mathematical formt
unit? -

PR N ol Vot N U B Sy G 58

Define average veI00|ty and write its formf.{la

-u:‘”i ur/wm?‘atf $Usbesl .59

S b (U8 gD g .60

Define terminal velocity.

i
o
f

LSS nS s 61

Differentiate between speed &ng-velocity.

JLOPSE slr 62

What is meant by uniform veIoc'’f‘“)fﬁﬁ?55?1?5-‘v .

Q".ﬂ/lfé&{(/ﬁj{ .63

Write the use of Ildargun

ek 64

Define acceleratlon..:

' ‘ts-.mathé'matical formula and SI
i

Vet F2 mp S U AL S P S HM 85

S

¢

unit. %, Y
v
What is retM ‘

?ﬁ;.lf(u@“f/&/ .66

Define unlform at‘:eeleratlon

GSB FSF M zy 6T

Define uniform accelera-tlon and give its any example.

e LI S S FEH Moy 68

Write equations of motion for uniformly accelerated motion.

I F gl Leﬁkﬂpw .69

Convert 1 kmh-' speed of a body into ms-".

St mst et kmh g7 70
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Convert 72 kmh-1 speed of a body into ms-1.

S bw Ut ms g T2kmh 2

Convert 36 kmh-' speed of a body into ms-".

g dw st ms e 36 kmh P

Convert 20 ms-'speed into kmh-'.

S def kmh 1 20 mst

Define gravitational acceleration and write its value.

pesR

~U:¢J~"*‘EJJ‘AIJ“/'/._.§/’JM~ p

Define dynamics.

J’ dy/ .

Define force.

Define momentum. Write its mathematical formula. Give its
direction. Write its Sl unit.

Define Inertia. Explain with example.

Differentiate between a force and inertia.

Sy /G e S T9

State Newton’s second law of motion.

SIS Sy .80

State Newton’s first law of motion.

B C L O AL

Prove that: F = ma

F=ma. /=t .82

Define unit of force.

Sy Sy lué 83

Differentiate between mass and weight.

-u’/'/g)/u"'u;u}iu’l, .84

1State and explain Newton’s third law of motion.

e _»L,HJ Tl S 961 S S 6S s 85

What is meant by action and reaction force?

‘."Lﬂ/ga_u“/i u’gfdu}ld/g' .86

Explain the action and reaction forces in case of rocket
motion.

-Q/wUJJﬂiduﬂuﬁ{!u:ui/J&’/b .87

How much force is needed to prevent a body of mass 10 kg
from falling?

Qd/n/g/:gj/ium/éééucgj:(()vgé’lOkg .88

What is meant by an isolated system?

Sl e AT 89

Define force in terms of momentum. Also write its \x .
mathematical formula. i

il g S P TS 90

Define force of friction.

-Q/_.:d/?d/«ff/ﬁfu/} 91

Define force and friction.

-Q/Hyfu(u’f/nu/i .92

between tyre and road.

-ufg;wfJM&l/éuﬁf/'uyuLﬁ’u/}l//L"-Q/:@/yJuﬁ(/. .93

What is meant by co efficient of friction? Wl‘ft
mathematlcal formula.

i b S I L 94

_Q/J/u:u:f/véﬁujl‘f//jgl? .95

-ﬂﬁi}u&f) .96

,uﬁdiatl.ﬁ;ué‘;;(/' 97

bt PSS 98

i bt PSSR 99

S PSS 100

S PSS m ey 101

What is hea ector addition? Explain with

example.

ol JES e Wi P4 LS5 A 102

How a vector is répresented graphically?

¢t LIS A 103

What is meant by recta_ngular components?

?§.Ju/g¢;ﬂ{d);f 104

What is meant by resolution of forces?

?‘L)’/gc—f/jdfuﬁﬁf{/ 105

In a right angled triangle length of base is 4cm and its

—eom 335 Ztmom 43U Sawb Ut ek oA 26 L1106
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perpendicular is 3cm. find length of hypotenuse.

UL

Define a rigid bodly.

S S8 107

Define axis of rotation of a body.

Define moment arm.

S St /u:m/ 108

Differentiate between axis of rotation and moment arm.

Differentiate between moment arm and line of action of a
force.

_u/ a /uw;éw,’w@%mpuwr A1

On doubling the moment arm, find its effect on the value of
torque.

What is meant by principle of moments?

Y m.maﬁﬁ.%w@wy 112

113

What is meant by plumb line?

114

What is meant by a couple?

: 115

What is equilibrium? Give two examples.

%1116

State the second condition of equilibrium. Write its
mathematical formula.

= 117

Define unstable equilibrium. Give example.

S PSS F 118

Define neutral equilibrium. Give example.

ISy FSE Ak e 119

Define law of gravitation.

L8 51 120

What is gravitational constant? Write its value.

te AU et FsyS 121

Give the value and unit of ‘G’ in gravitational constant.

e 3 G et S 122

Why we cannot feel the force of gravitation around us?

S S s AIE LS S i 123

What is meant by gravitational field?

e e S 50S 124

What is the relation between law of Gravitational an
Newton’s third of motion? P

o S P Sls e AL r Lt LH Sy 125

Write down the formula to find the mass of Earth :

U L S s 126

Write the formula to find the mass of earth and" :
mass of Earth.

s LS s 2T

What is the numerical value of g at Sun and Mars?

c%.‘{(ﬁ*‘:{b(g {.i/J@//:l@/r’ 128

g” minimum at the

Why does the value of

te dnudfedd g adusiy 129

155.1f R is doubled, then what will be chaéy

U 0N g = b U R 1130

What Is meant by a satellite?

?c‘;:l/.lzféu‘aj/lﬁ? 31

State the difference between i tural a

SSRGS 2 135 132

Whatis Global Positioning Sy%rg’? What

_q/ugJWlKJIVLMﬁ/ f«fiﬂdf 133

Give two uses of artificial satélﬁ%@

e L e § i 134

What is a satellite and geostatlonary satellite?

U A 2z mla AV 135

What is a commun{'f

catiof. atelhte’? Wiite down its height
from the surface of €a :

o i et e e 2L 136

What is the height of gaostatlcﬁﬁ"ry satellite from the surface
of Earth?

te Qb e & SutsSetins 2 p 3T

Write the foﬁ'ﬂﬁj‘ ?%?%rb speed of artificial satellite.

i S TS A 5o 138

Define work and Joute

_Q/.@/)‘JJKMJJ 139

What is the difference between work and energy?

?%J}guﬁ&/'b)'d/ﬁ 140

Define types of mechanical energy.

-ﬂ(tifﬁd&ﬂﬁﬂm
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Define kinetic energy and write its mathematical formula.

QS P S8 6 142

Define potential energy and write its equation.

i Qg S PSSy

143

Write equation of kinetic and potential energy.

e $E S g (¢ 44

What do you mean by mechanical energy? Give some
examples.

-JJUJVMCL)VALK}:?J/IM 145

How mechanical energy changes into heat energy?

OLWU/J/V Z//l’u’(%&g/l.»«;

What is sound energy? Give examples.

%wmw

147

Define chemical energy.

_ .W}J&/uﬂj%

Which energy converts into muscular energy?

FE s s G K

149

Differentiate between mechanical energy and chemical
energy.

150

Describe the difference between electrical energy and light
energy.

%U/}!gﬁ.}gl

SO IRRY

151

What do you mean by nuclear energy?

?‘L)i/gagﬁ/'lﬁg;j

152

Describe the use of light energy.

SIS

163

What is soil erosion?

= e S

154

Write down the two disadvantages of fossil fuels.

u‘dﬁgxbui/fwi

.155

What is meant by non-renewable sources of energy? Give
their examples.

Wu‘;u‘]v»"gﬂ/tfc_duui‘jb LLJ/I

.156

What do you mean by nuclear fuels? How energy is
produced form nuclear fuels?

¢ Qodtl Gie I8 e i o\ I3 A

157

Define fission reaction.

NSy NS

.158

What is solar cell?

OLLL’(J:/’/

1589

4
What is the second name of solar cell and how it is.:.made?ﬁféﬁ

fe bl 4;?9y/ftl/uggff)/

.160

192.0n what parts a heating system consists of? -~ B

?‘gt‘nd}b{,uﬁd?'/u@:

161

Write the uses of wind energy.

_uf.aV:JULﬁ"iéJ./'lfC)

162

What is meant by geothermal energy?

e e GIJ 2

.163

What is meant by energy from biomass?

?‘L}’/y/LL/JIEJ./"LJL{L

.164

Write Mass- Energy equation. Also write thsiiﬁ
of light.

_ﬂd{dd/wi{Jﬁéu-uf.dical;bf&/'lgfl.&ufl‘/&l‘

165

What is meant by power? Write its formula

o U BE 1S sl Pl sl

.166

Write the properties of kinetic molecu

0 eor? S A $K Lo,

167

What is meant by plasma stat&of matter'? v

PP (50

.168

Write two differences betwee%gﬁ*

<J:¢'JJ/‘5)U:G4J[7JJ{//}|J};

169

Describe some properties of plasma.

o eer? 2l

170

The mass of 200 tone is‘%‘@O g. Find its density.

SR 512 500g UL A L1200 omd

A7

What s the SI unito -Pressure?. p-eﬂne it.

S e ekt

A72

What is athré&sure;ﬁr

St e Ay

A73

Why the air”ﬁecor’ﬁ?’é’?t ér and thinner as we go up?

te Sedidnudf e il b PSS At s

A74

What changes area “expected in weather if the barometer
reading shows sudden decrease?

e 3/t » LU S Lot o s

A75

What is meant by mercury barometer?

Sl e pn$S

176

Write down the names of some devices which work on the

principle of Pascal’s law.

s/ Il Lgf’gﬁu:”ﬁ s ;Q;ﬂﬁwg

A77
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What is principle of floatation?

S e 7 T8

On what principle, ships and submarines float on surface of
water and why?

Ut 2 def LU ol £ A9

A wooden block floats on water. Why?

U ety %,,{Kd/g.ﬂ 180

Define deforming force.

/}’Jj/l.w 181

Define strain and write its formula.

Define stress and write its Sl unit.

f@y | fﬁ%/w/ 183

What is difference between stress and strain?

L A 18

State Hook’s law.

56185

What is meant by elastic limit?

e o Eik1 186

What is meant by Young’s Modulus?

/?‘L)l’/gLuJu”r"/é.. 187

Why is heat called as the energy in transit?

A UL 003 07 188

What is thermal equilibrium?

S U A5k # 189

Differentiate between heat and internal energy.

JL3pSEEAS Frea. 190

What do you mean by lower and upper fixed points?

?‘L;l/g‘;.uﬁugﬂ/gmﬂ 191

Write two scales of temperature.

SR L i 192

Define Fahrenheit scale of temperature.

v YN R [

What do you know about Kelvin scale of temperature?

Tt AL S L 5 194

Define Fahrenheit scale and Kelvin scale.

-Q/.g}JVkCu)&CﬁubkC%’w/bWS

Write the formula of conversions form Celsius to Kelvin
scale.

i Lt E K = FE S 196

What is absolute zero?

S iy 197

What is a clinical thermometer and its range?

e Gy AU 198

Convert 100° F into the temperature on Celsiu

a5 100°F 199

scale.

LS g A 550°C S U 200

Define specific heat.

SIS S e 27 201

Gt S e Ab-e 50°C £ 802 Ut E gl 202

Jx uﬁdzc e et 98.6°F £ < J;L'Kﬁ duir 203

o

it is 20° C on Celsius scale?

5200 C £, 45 5 b 52 (S 204

Change 300 K on Kelvin scale it :*” N

S S 5 300K g w205

o E sy S PSP 206

GO Uiy B iy 207

What are the factors @n:w }“é’/gg’evaporatlon of a liquid
depends? "

Sty N7 S AS g e L 208

g ; T
What is the gfectiof i

.rature on evaporation?

e tw VK 2 gy 200

How nature of tﬁé hqwd aﬁects the rate of evaporation?

?c‘_mﬁul[/?c}d/ﬁn’q;m{i‘fét 210

Give two uses of coollng effects by evaporation.

-ufiaﬂlﬁ:’luéfﬁ_//i@:u(ﬁd/ﬁu;.gi 2211

How evaporation differs from vaporization?

Vﬁgﬁ@/’“aﬁ//l/}jﬂﬁ'ujﬁ 212

Define vaporization.

I f e 213
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What is meant by evaporation? ¢ e Fmst 214

Why rate of evaporation increases by increasing the surface o Jlmuuu {C/“ SeFere ity 3, f’ p ét 215
area of the liquid? e re o2 ~

How wind increases the rate of evaporation? ce S AT j&(kﬁﬂ, Jise 216
What is meant by anomalous expansion of water? St e M g Ll 217
Define co-efficient of volume thermal expansion. NSy NS ‘)Q:; Utpds 218
Why gaps are left in railway track? ?éw,;gu@,@mgﬁggb 219

Write two uses of bimetallic strip. f}% éid }me 220
Write any two applications of thermal expansion. 221

What do you mean by transfer of heat? 2 299

Write the names of methods of transfer of heat. 2 S ' ) . £ 223

What is meant by conduction of heat? | ) = 224

Define the rate of flow of heat. 2 AL 295

Define rate of flow of heat. Write its mathematical formula. 296

Define thermal conductivity. What is its mathematical
formula? i,
How does cross sectional area of a solid affect thermal o U S 3 2 s 928
conductivity? N A i ®
Write any two factors of rate of flow of heat. R, 299

What is the effect of length of the solid on thermal St I //J goam, Lw # 230
conductivity?

Differentiate between conductors and non conductors. _ S G P s i 231

Give some uses of conductors. _J:J e L P 232
Mention two uses of non conductor. A T _u:""T 1P e 233
Define convection. . g S 234
Differentiate between land breeze and sea bre B S GRS /:,rf,,;g 4(»3 235
Write two uses of convection. g _u:”i U1l 4 236

Write down two uses of convection currents. I i £ S 23T
What causes a glider to remain in air? ‘ e K Sl irf 238

What is meant by land breeze? ) ' e /gcd/,(a) 239

Write names of any two blrds wh" xpert ther ] u‘fl(t Cosioir 7 ros 240
climbers. R £

Define radiation. . 5;233» S PSS 241

Name the factors on which the ate o radia LS SRSy S S 242
upon.

What is the effect ofsurface area gn.the rate of radiation? St A0 ASHISLE ’;/f’ 243

What s a Leslie’s ¢ e Write |to four surfaces. el Ly }”/lgo(w? U 244
Mention the use of Lestte s uﬁf =l kAL S 245
Why is not M ar dark coloured in summer? Ce vl i = dre AL i [t ) 246
Why bottoms of éooklng pots are made black? S bE Ul KU g,,,g_gM 247
Write two consequences "of radiation. -u:"’i Otblns L 154 248
284.Why we wear white or light coloured clothes in summer? UL AL by i) 249
What is thermos flask? fe S Ly # 250
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Write uses of Styrofoam.

e lis /b 251

Long Questions

Q1. Write detailed answers of the following
questions.

Explain translatory motion and give examples of various types of
translatory motion.

Sy L P s P

- /- yu’_/;%t@

Define scalar and vector quantities. Give two examples of each.

-J )dl’fv‘u} @m}gf uylﬁ" /)’)'/u:l)*c

Derive equations of motion.

Define momentum. Write its mathematical formula. What is its Sl
unit?

State and explain Newton’s first law of motion. Why Newton’s first
law of motion is also called the law of inertia?

State Newton’s second law of motion. Derive its mathematical
formula. How you can define Newton (N) using second law of
motion?

State the law of conservation of momentum. Explain with
examples.

What do you mean by force of limiting friction? Derive its
mathematical formula. Define coefficient of friction of this relation.

@ »uumuduwwuu/u@_f P T
IL S

Write down advantages and disadvantages of friction.

T et e 6L P

Describe the methods to reduce friction.

SN SLL ST

2
Define centripetal force and prove that; F. = Z—

Q2. Write detailed answers of the following

questions.
State and explain resolution of forces in its rectangular
components.

mvz IJ/MV/}’<J/J/JJJ/}’J~6/
-q/ 1 MAT Ly f5.0000

_Q/c)Lbu)lb‘?/?d/f/}JTJ&)J)Z/ufu’i"f){d;/

What do you mean by torque or moment of force? ¢
it depends upon?

St g 18 S AT sl e o STy S

State and explain principle of moments.

el Sy S e

Define centre of Gravity What is its importance’?

-u/ uuwww/ P SG S ST

the help of plumb line.

/ 6; // %éybﬁt;{—ug&}ld/tfﬂbf};

What is a couple? Derive its mathematical rela

gLt Qg S PSS

el Sute i Sy S S SE Sk

el $ 2SS P A

SIS .ﬁ;gvﬁ_g.ugm_ﬂ U QKIS PSS

Define kinetic energy and also derr\%%ﬁwula.

S 6 E g S S G 3¢

Define potential energy and also derlve |ts formula.

g S PG A

el L Lo L L

energy?

S b AU AE AT Sl S UL

Write and exﬁ%ﬁ%@s Ey

a3. Write detailed answers of the following

questions.

How kinetic molecular model of matter is helpful in differentiating
various states of matter?

-u’»/&?u;JJ!J}!%&!:P&/’!JLJJ[?JT
S NI L ey f50 s

S Kul AU RS TRV St it EA (st

Explain the working of hydraulic press.

‘.Q:/WU}JL/}KLJ{‘J}JYQ
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Explain the working of braking system in vehicles.

eSS L T L Loy

What is upthrust? Explain the principle of floatation.

S el L e p e AU

How can we calculate the density of an object by using
Archimedes principle?

S Sl LS S AL

Explain how a submarine floats on the water surface and dives
down into water.

V%@fc}‘//mzidwv,;gfé T

Define Young's Modulus. Derive the formula and write the unit.

S SV s

What is meant by evaporation? On what factors the evaporation of

a liquid depends? Explain how cooling is produced by evaporation.

Sty [ u,?9rn4JrfJCuf IKJ%/y 6.)! ey

‘E‘gdrly JJ

Explain the volumetric thermal expansion.

g g U)&Md/iid"(}"u

Define linear thermal expansion in solids. Derive a mathematical
relation for linear thermal expansion. Define coefficient of linear
thermal expansion from this equation.

S P Yol Ling J/uﬂts}b.&

(g d/vd}’u"(uuyf

What is a bimetal strips? On what principle it is made? Give its
working and uses.

Define Specific heat. How would you find the specific heat of
solid?

Numerical Problems

A train moves with a uniform velocity of 36kmh =1 for 10s. Find
the distance travelled by it.

: _«LG/%}VG']OLJU}(}L&{/J 36kmh~1 q/”.{l
5
f S At

A train starts from rest. It moves through 1km in 100s with uniform
acceleration. What will be its speed at the end of 100s.

Q.O}:’viﬁ/bfl(/ugg,-%&/& ke e od et ]
ke Serfgln 000 (S L Lot 128 G

A car has a velocity of 10ms™1. It accelerates at 0.2ms~2 for
half minute. Find the distance travelled during this time and the
final velocity of the car.

cgﬂ)m(lé 0.2ms™2 _F & i« 10ms™! E UKL
U E ST S S L il Znde

A train starts from rest with an acceleration of 5ms ~2. Find its:

speed in kmh ™1, when it has moved through 100m. -='51:;~_:¢ .
Y

00-=- 32 fle AL LA ML 5ms—2e ol edig/of]
ol Ut kmh L S L8 S e Lol 2

How much time is required to change 22Ns momentum by a f
of 20N? .

K3 g S20NL L b £ §22Ns 2 L0757

¥y

Find the acceleration that is produced by a 20 N for

u“%)*fluu'gm%utﬁw-%w/fw}J20N4(?Vgéuh8kg
ST

Lo k2 1oe S 7 = F13E10ms ™1 L6/ #5
-u.:/r}’”u'/}bguéé

J,A-+100ms‘1;Lé@;dw/dw;;"u,J&deJLranOVQ
e SkguBy sl Sl

between wood and the marble is 0 b

n'gj/)’fJf/uy/JLJ/J}fL//uC/}iJJ}LLf}JLJLrI/(}KF)
-90.Gc‘xfJJ)JTM&/U.V/;L//..@AU}{?J

How much centrlpetal force is needed to make a body of mass

LV rd 3msT e L RL/50emd Lo/ K05
e ludfis L L

A force is acting on a bedy

k %ﬁ angle of 300 with the
horizontal. The horlzontal mpor of the force is 20N. Find the
force.

J/}-q.‘ﬁ//JanLlad,u;K 300,:5’/‘1{ XVLA-X{,()‘J(J/}.{! .
U e 20N ox¥

A man is pulling-a. troﬂ’éy horizontal road with a force of 200N
making 300 with thé foad. F|nd the horizontal and vertical
components of its force.

&0 Lo Je a6 3002 £ e A S200N G
-éf}b‘”ﬂ.;{d;//}lg;lLJ/}J’-gg/

A force of 100N is applied perpendicularly on a spanner ata
distance of 10cm from a nut. Find the torque produced by the
force.

lé(:c;dl_ct_u?//f@f{./:?(flib'é10Cm:-¢z3u'/}u{db)j1 00 .
e S

A nut has been tightened by a force of 200N using 10cm long

$150N el = U #G200NL U1 22 10cmes ]
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spanner. What length of a spanner is required to loosen the same
nut with 150N force?

?gn%/;ﬁ:{wt‘?fc_}. Lé./U;‘”;”c;J/i

A mechanic tightens the nut of a bicycle using a 15cm long
spanner by exerting a force of 200N. Find the torque that has
tightened it.

e ek i el L 15em By S S200N_EXl 15

The steering of a car has a radius 16cm. Find the torque produced
by a couple of 50N.

-.U:_ / (}l’” Sl

A man has pulled a cart through 35m applying a force of 300N.
Find the work done by the man.

J' 3008701 .
..;E.J/r)“"d/u

ST e te L JE 35§26 iz s

A girl carries a 10kg bag upstairs to a height of 18 steps, each
20cm high. Calculate the amount of work she has done to carry
the bag.

/d’ZOdv,er,a/_au’”;(MS/J’Wﬂ/ﬂo‘fhﬂ )
ALl Y o

A car weighing 12kN has speed of 20ms!. Find its kinetic energy.

Kd)} KN12..,Q .

A stone of mass 500g strikes the ground with a velocity of 20ms-".
How much is the kinetic energy of the stone at the time it strikes
the ground?

éﬁ;~+r|/500mb//71y{l .
068 Az F20ms ™!

A block weighing 20N in lifted 6m vertically upward. Calculate the
potential energy stored in it.

T Y

A 500g stone is thrown up with a velocity of 15ms™. Find its P.E at
its maximum height and K.E when it hits the ground.

Gsd 15ms ™ALL /500

A body of mass 50kg is raised to a height of 3m. What is its
potential energy?

23

A cyclist does 12 joules of useful work while pedaling his bike from |.::

&

every 100 joules of food energy which he takes. What is this
efficiency?

.24
Vqu/Lf‘/u”'JJ'

A motor boat moves at a steady speed of 4ms-!. Water resistance
acting on it is 4000N. Calculate the power of its engine.

f4uu_‘43/cﬂ/i;&;w/4ms‘1u(;»f/r.{l
G SFIL 14000 < 5,

Sludni s 25

A man pulls a block with a force of 300N through 50m in 60s. Fi

the power used by him to pull the block. :;:

Y S 3 F50m 2605 5 $300N LI I L
_Q"/()L’”/:L,JJJL;/!

.26

A 50kg man moved 25 steps up in 20 seconds. Fin
each step is 16cm high. .

wd16ems iz ) etz 250 L 205 S L6 #50
ST I

21

Calculate the power of a pump which can lift 200kg o ater
through a height of 6m in 10 seconds.

S St i ES e B2 10853, 200k gt L .28

Calculate the power of a pump which can lift 70kg.of watféﬁﬁ?ough
a vertical height of 16 meters in 10 seconds. At§o-fifd:tk
horse power.

e (P 2105 FS kst S16mi 3, 70k g4 61 .29

SIS A g S

A wooden block measuring 40cm x 10
Find the density of wood. 4

<9g850JLK;ﬁ£d}6uQ£f§ 40cm x locm X 5¢cm .30
-Q/(}”‘é“;iﬁd/dﬂ

The density of airis 1. 3kgm‘?f Find the mas&of air in a room
measuring 8m X 5m X 4m .

;ﬁruiz_/éfg, 8m x 5m X 4m _« 1.3kgm‘3&"”~)‘1ﬁn .31
Ui

A cube of glass of 5cm side and méﬁ%%@ﬁvﬁ, has a cavity inside it.
If the density of glass is 2.55gcm 3. Find the volume of the
cavity.

-Laélaé &/»léjl/:lgg306JLKV/LJJ£ l//'.’.'&"/5 .32

LS Ui 2.55gcm ™3 S

The mass of 200 cm o » '-'LS;SOOQ:"-Find the density.

51 500Ut AL200em? 8

A student presses her pa{m by héigﬂwumb with a force of 75N.
What would b nder her thumb having contact area
1.5cm?? &

ééiﬁ&ul-+tg;/ a6 3 875N Liﬁguﬁ‘ i .33
??nli’f/f.z:U!;éZ{,_L.{.!L 1.5cm?

The head of a pirfis X square of side 10mm. Find the pressure on
it due to a force of 20K,

$20NUsE /1 10mmuL LS U7 - i 21 - S
‘Q/”}’”/:L{.Ubi.nlg:c;gj/}

.34

The diameter of the plston of a hydraulic press is 30cm. How much
force is required to lift a car weighting 20,000N on its piston if the
diameter of the piston of the pump is 3cm?

FL L2 G K3520000N-30cm 24365 £ b4
?n3cm}-{y${gf“r£%ﬁfmmu/}

.35
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A wooden cube of sides 10cm each has been dipped completely
in water. Calculate the upthurst of water acting on it.

4Jl-§_1ng,54/kdfu:&g-§.1OcméuJézﬁ£‘ﬁ,‘{w;ﬁg
e ASdei Ly

.36

The weight of a metal spoon in air is 0.48N. its weight in water is
0.42N. Find its density.

80U 20420561 £ o £, 48uuK5 Qlosine

37

A student presses her palm by her thumb with a force of 75N. How
much would be the pressure under her thumb having contact
area 11.5cm??

(.38

The head of pin is a square of side 10 mm. Find the pressure on it
due to a force of 20N.

(.39

A wooden cube of sides 10 cm each has been dipped completley
in water calculate the upthurst force of water acting on it. When
density of water is 1000kgm 3

JJ!_LLML};Q:/)’JIJ&'L,_LL 1
-« .1000kgm

(.40

A barge, 40 metre long and 8 metre broad, whose sides are
vertical, floats partially loaded in water. If 125000 N of cargo is
added, how many metres will it sink?

41

A steel wire of cross-sectional area 2 x 107~ is stretched through
2mm by a force of 4000N. Find the young’s modulus of the wire.
The length of the wire is 2m.

&%
ch_c‘_@u'u’ J‘l-%/
s

2mUS By

42

How much heat is required to increase the temperature of 0.5kg of
water from 109C to 65°F?

of

An electric heater supplies heat at the rate of 1000 joules per
second. How much time is required to raise the temperature of
200g of water from 20°C to 90°C?

00-ct/Lr ez e 26 10004

Wil L0 by 90°Ce 20°

A container has 2.5 litres of water at 20° C. how much heat is
required to boil the water?

: L&L;[&kgu%;ir&gﬂ254jg/"20°c U:/:VJ/V{' .

?Jyz

How much ice will melt by 50000J of heat? Latent heat of fusion of? '

ice is equal to 336000Jkg".

Py

w7 & Sk Ly 0S8 Sy el S 7250000

-<-336000Jkg".

How much heat is required to change 100g of water at '::1:600_\@;_\{%9{ '
steam? Latent heat of vaporization of water is 2.26 5 1057

*’JI/K/:uA]dfiLL/Jyu"uw’ L £4100°CH /100

- 226 X 108]kg™! =7 d SeFum

Calculate the increase in the length of an aluminum b‘___ Em - ]
when heated from 0°C to 25°C. The thermal coefficieft of Ilné:’agsﬁ?

S e WU F 25°Ce 0°CH L Sl 22

2.5 Xed S QW Lt Qardp L a2 S
-« 107°K1!

£ Lt A0°Ce b 1t 1.2m3 4 15°CUte P

-« 3.67 x 1073 mB =SB Lins Sz Ut Lo

g B30°CIUE e o g f A0l S S

19 x 105Kt i@ Lang dardpb £

L e 10°CL0°CHUER /b p ik £ e £100°C

e 1.9 X 105K L d S @ g G b
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